MUGI

2002 9 16



OO0o00doddd MUGI
Joooooobuoogonon

b 14090160



oo

000000000000 MUGIOOOOO0O00O00000O0000000000O0000000
00000D0O0000oooOoDDOoo0oooooooO D.Coppersmith 00 Linear masking
0000000000000000SNOWOOOOO00O00000000000000MUGIO
0000000000000000000000MUGIOOO0OO0O00000000000000
00 00D.Coppersmith 0000 distiguisher 00 0000000000000 00O0O00OOO
truncate linear 00 0000000000000 D00O000O0O0O0O0OO00DOO0O0OOOOOO
000000000000000000000000000000 4800 00D.Coppersmith O
0000000000000000000000000000000Otruncate linear 000000
00000 S-boxO0OOO0OD0 2300000 S-boxO0OODOOD0O0OO0 250000000000
0000000000027 0000000000no0noonooonooono



1 0o0o0d

MUGIDO 20010 00000000000DO0OO0DOOO0ODOOCODODOODOO0ODOOODOOODOOO
01000000000 00000 200000000000 UO00DOOo0DOoOUOoOoUoOOn
00000000000 00000D000D000000D0dD.Coppersmith O O”Cryptanalysis of
stream ciphers with linear masking”[3] 00 0 O SNOW 0O 0O O 0O O linear masking 0 000 0O
0oo00oO0ooO00ooOooOooDOooDpOooDobOoooo MUGIODODODODOODODODOOOOO

000000 B3oo0ooooMUGIODOOOOOOOOOOOO0OOOODODOOOOOOOO
goboooogon

2 MUGIOOO!

MUGIOOOOO0O0D0O0O00000 128bit00 000000 n(000)000000000RDO
go000Oo000oooO0ooooO0o0oDoOooOobDeebit0DOOO0ODOOOOODDODOO

2.1 0000

MUGIOOOOOOOOODOOOOOODOOCOOO 2000000000000000t00O
gogboobobooboobooo

e 00000 3000000000000000000 f”,”,el! 0000
e 00000 160000000000000000000, Y0000

000000 (¢t+1)0000000000O0O0O0OOOOO0O0

22 0000

p000D0000e0D00D0000D000000b000000Y,6Y 0000 k® 000 (O
10000 <<<mOmbit0000D0000C,C,0000000,0000000FO00
020000F000 AESODOO00O0D00 S-hoxO MDSOOODOODO0D0O0 MOOOOOO
00000000000000000000000000000060000000 Y0000
00000000000

AD0DO0D0KOO000000000000 000000 000000000000
0 (0 3)0

MUGIOODOOODO UpdateD pO00 ADODODO00D00000000

(@™, b)) = Update(a™ b)) = (p(a',b®), A6, a"))) (1)
MUGIOOOOOOOODOMUGIOODOOODODOOODOOOODOOOO0OoOoO toooo a;t)D

000 ouwtl] 00000000

Out[t] = a;t) (2)

lDoopooo [1Jo0



3 00000002

0000000000 2000000000000 0ODO0O0000UDOUO0OOO0O0OnOn
000 §3.32000000000083400000000000000000DO0DDOg34000
00000Doo0o00o0o0ooDoDoO0o0oU0s3400000000ODOO0’0 00000000 MUGI
ooooOoo((W)’4oo0o00o00oU0Oo00OU0000DOUO0O0OO0UODO0OOUOoOODOD
000000000 00oooboonDOgs3.32000000000000000DOD00DOOODOOO
00000000000000 D.Coppersmith O O ”Cryptanalysis of stream ciphers with linear
masking”’00000000O0OO0O0OOOOOOO

4 Cryptanalysis of stream ciphers with linear masking[3]

D.Coppersmith 00 [3]0 000000000000 0OOOOOOOOOOOOOOOOOO
goboobobooboobooboobooboboobooboobon

1.0000000000000000000 L(y@),r()0000000000000000
000y(t)000000000000000r()000000000

2. C(t)-y(H)=0000000 C() 0000000

3.y)DODDOOO0D00O Y, C(t) - L(y(t),r(t)) = M(r(t)) O distingisher 00000000
ggd

000 distingishiee 00000 r(t) 000000000, 00000000 M(r(t))000
000000 (0000000000000)00000000000000010 step0000
000000000030 step000000 distingishier 100000000000000

000 SNOW 000 distingishiee 1 0 00 00000000000000000000000
ooo

5 MUGIOOOO

MUGIOOOOOOOO ANOOOOOOOOODOD p00ooooooooooooooog
go0ooooO0o0ooooooooooobsO000O0DOOOO00OOO0OOODODOOOODDOD
000000000000 000000000000+0000000DO0DO owtt]OOODO
gobooooooo

D.Coppersmith 000000 SNOWOOOOOOOOOOOOOOOOOOOOOOOoOMUGI
gboboooboboooooooooon

000000000000 O0OMUGIO 30000000 o0oo0o0o0oooUooooo

1. 0000000 p0000000000L(K®),Out(t)) 0000000000000000
00k(t)000000000000000000

2. 000000 A0000000000000000000000000000000000
00000k 0000000000000000000Y 0000000000K00
00000000000000000000000000000000 C()000000



3. k() D0D00D00D00O0 Y C(t) - L(k(t), Out(t)) = M(out(t)) O distingisher 00D DO 0O
gbooooboooon

000000010 setpd L()OD0O0OO0O0OO0OOO0OODOOOOODOOOOOOOOOOOOO
gbobooood

6 0000 (p00)000

0000 FOOODODODODOO0OOOOOODOpO000000O00 FOOOOOODDOOODOOO
0000000 64bit 00000000 truncate inear D000 00O 0OO0OODOOO FOODO
active S-box OO0 OO0 OO0

6.1 FrOOOOoooO

FOOOOOOO2000000 MOOOOOOO50000S-box00000000 27%0
0000000000000000200FO0OO0O00O000000 (T 5T 5T, 0000
0000 MDOOOOOOO50000000 activeS-boxOOOOODO0 50000000000
023 000000000000T,=0,00000000FOOOOOO0O0OO0O0O0000OO0
active S-box 0100000000000 active S-box 000000 10000000000000
02°%p0pgoo

6.2 pLOU0O0OOODO
6.2.1 p0O0000ODOO

00000000000 p0000U0C0ODOOO0O (040000 FOOOOOO GODOOO
gooooooboooooooooooD Gy, 00000 ooo0oooogooDoooOoooDo
p00000 pO000O0O0OO0OOOOODOOODOOOG,OFOOOOO (t,+1)0GOOOOODO
gbooooo ¢, oooobooboo

6.2.2 p000000DO

0000000 ¢, 0000 active S-box 00000 s 00D0000ODO t000000O
00000000 5070000000000 ¢00000¢0000000000000O0 active
00000000000 0AOOOOODODOODODODODOOO000 activeD00000000O
OO0OCase 10Case 40 ADDDDDODODODDOD sWOOODODODODOODODODO as®O0OODOO
OO0Case 5,Case 60 ADDODOOOOOO (¢(—1)00000000 es®W 0000000000
D000 ¢0000 Case500 Case700D0D0000O0D0DO as® =10 Case6 00 Case8 0 O O
0000000 as® =10000Case70Case8000000 (t—1)00000¢t0000000
as =40000



7 000 O\OO0)0O0

gooooaxoOdOoOoooOooO0oOooooooOogoDpoooooooobooOoogoooo
gbooooboooood

e 0DDODO MY . iD0DODDDODODOO

e 0000 :i00000 0000000
a)) € GF(2%)

e D0DOKY :i0000D0 p00ODOOD

RO = (K kD) (4)
(i _
KD e GR2st)  (j=0,1)

A0000000<<< 320000000000000000000 s0000000000
reGF(2*) D000

sr=x <<< 32 (5)

0000000s?0 s0os=1000000000

7.1 0OO0O0O0

A0000CO0O00DOOOoO00oOOOooOOoOoO0OoDOoOoOoOooOOooO0OoooogooD

b = A + B’ (6)
D —c.p® (7)

O0O0OD0AO 6xle000OO0OOOO0OOOBO I6x10000D0O0O00OOCO 2x16000
0000000000 GF2%) 000000000000 MUGIODOODOOO000O0OO0O00OO



0O 000OOO0OODOOTSO0OOOOTO0OTQ 01

1000O0O0O0OOOOOSOO0OTO0OTO0O
01.000O0OO0OO0OOOOOOOTG O® O
001 0O0OO0OO0OO0OOTOOOTOTO0OTO0OF® O
0 0010O0OO0O1TO0O0O0O0OTO0OO0OTG 0@ O
00 001O0OO0OO0OO0OO0OO0OOTO0OOT O0OT® O
00 00O0OT1O0OO0OOOOOOOT®O0OO
0 000OOO0OT1TTO0O0OO0O0OOGOOTO0OT® O
0 000OO0OOOT1IO0O0O0OOOOT® O0OT® O
0 000OO0OO0OO0OT1TO0O0OOO0OO0OTG 0@ O

0 00O0OO0OO0OO0OOOT1TO0OTUO0OO

0

0

S

00 00OOO0OOODO0OOOTOTOO0OTUO0OF® O

0 000OO0OOOO0OOOOT11IO0TUO0OTG O® O

0 000OOO0OOOOOOT1O0OT OF® O

00 00OOO0OOOOOOOOOT1TO0O®O

00 00OOO0OOOO0OODODOOOOT1TT®O0

A=

— O O O O O O O OO O o o o o o o

)ooooooob™ o

0 0oo0oo0oo0100O0O0O0OO0OO0OGO0O®O0OTG O

0 0oo0o0o0O0OO0OO0OO0OOT1TO0OO0OO0OT®O0OT®O0

00000000000 ADDD000000000G?=0 (i

oooo s Oooonn

gooogo

7.1.1

=0--

p(n) = A" . pO)

gooooo



7.1.2 0O0O00O000O0OOOOODOO

ggodg a[()i)EIEIEIDDDDDDDDDDDDDDDDDDDDDDDD

n—1
k" =C-(A"-b© + 3 A" B o)) (9)

Jj=0

7.2 AO00OOOO

AODGF(2*)00000000000 (5)00000A00000000000n=48000
000000000000000000000 A000000480000

73 AOIOOOOOO

000000000000000000000000000000000000000000
00000000000 (900000000000 000+0000000000) 0000
noooooo A”4?,000000000000000000 2000000 20

KO +5- kD + 6 =0 (10)
EO + 67 + 5 40P =0 (11)

00000000000 (10),(11)000000000000000000000000000000
Dooooooo@o)oooog (¢X,0f,--,cfhoo apooooo 2,0, ,c)
0000D0000¢t0000000¢=0,1,2---0000

8 MUGIOUOUODODOOOODOOO

MUGIOOOO00O0OO0000000000000000000000000000000000
00000000000000000820000000 (DP)0D00DO0ONOOOODOOOODN
000000000000000000000000000000000000006,70000
000000810000000000000 activeS-boxOODODOO0OO0O00O0O0O 64bit
00000000 truncate liner 000 0000000000000 active S-box 000 ASODO
000AS=Yaes®W 0000

8.1 LUgugooo

0oo0oodoot,O0FO00,G00000000000 F) g 00000000 t,d ast)
00000000000 500700000000000000 64bit truncation 0000000
00000000000 1hit000000

20 (10),(11) 000000000000



Ft) Gt € {0,1}

o Ftn=1) Gltn—1) ¢ £0,1}

agt") € {0,1}

agt"ﬂ) € {0,1}

tn tn—1 tn—>5
(CIE;O )7CIE;0 )7"'701530 ))

i e {0,130 (i=0---5)

tn tn—1 t,—11
(Clg;l )7CIE;1 )7"'701531 ))
o) €{0,130 (i=0---11)

gboboooobooooooobooooobobooboobooboonog

gboboooood ¢t 00bboboo0obon 0000000 truncate000000O000OO00OO
(ts—1)0000000O0O00O0OOOOO (te+1)00D000DODOOOUDOOOUODOOODO
000000 ASODO0D00000000 truncate 000000 0OOOODOOOODOOOOOOO
000000000 [eoooooonooo

8.2 UUUUOobobuoOoOoon

0000t 000000000 (.s+M)00UD0O00OD0 truncate0 0000 ASOOOQO ASmin
0000000 MOOOODDODOOODOO ASO AS,:,,0000000OCO0OOODODOOOOO
D000 truncate 00000000 0O0OOOOASO AS,:,,y 00000000 OOOOOOOO
0 ASpin 0 MUGIO active S-box D00 0000000 OOOODOOOOOCOOCODOOOOOO
gboboooboobooooood

8.3 UUgQl

000000000 000O00O0O0O000O0ODO ASOODOO 2300001100000D00000O
00000 ASOOOCO 2300000100000 0DOOOOOOOODODO ASODDODDD 1O
00000oOoOoOoooo ASsoooo 23000000ooooooo0 100 woooooooo
000000000 20000000000000890000000000OOODO ()0ODO
0000000000000 esWO0D000D00000000900000 ADOO truncate O
gboboooboobooooood

8.4 MUGIODOOOOOOOO

00000000D00000000 ASO00023000000000S-box0000000
02°%000000000000MUGIDODODODOOOOOOOOO (2792 =2"¥0000



9 U0

0000 0OD.Coppersmith 000000 Linear masking0 OO0 MUGIOOOOOOOOO
0000000000000 000 pd0oCoOo0O0 D.Coppersmith 0000 distinguisher O O
goo0oOoOoooooOoOoOoOoOoooOo ANOO0O0OOOO0OO0OoOoOoDOOoOoOOoobODOoOoOOn
0000000064bit0 0000000 truncatelinrear 0000 O0000D0O0OCOOO0OOOO
oooo

0000000000000 activeS-boxO00000 2300000S-box00000000O 276
0000000000000000000000000000 27¥000027120000000
O00O0D.Coppersmith 00000000 30000 MUGIODOOOOOOOOOOOOOOO

good
[1] 0000 0000000000000 MUGLOOO Ver. 1.30 (2002)
2] 0000 0000000000000 MUGIOOOOOO(2001)

[3] D.Coppersmith, S.Halevi, and C.Jutla, ”Cryptanalysis of stream ciphers with linear mask-
ing”, ePrint@QIACR February 16,2002

[4 0000,0000,0000,00000000000000 MUGIOOOOO0O (1)0SCIS2002
5] 0000000000000 (1982)

[() D000, 0000000000000000000OO0 (1996)



oooo | ASOoOO | ooog | ASOOO0 (0OOooo | ASooo joooo | Asodd
1 - 31 25 61 29 91 33
2 - 32 26 62 29 92 34
3 - 33 25 63 30 93 33
4 - 34 26 64 30 94 33
) - 35 26 65 30 95 34
6 - 36 25 66 29 96 34
7 - 37 26 67 30 97 34
8 - 38 26 68 30 98 33
9 - 39 26 69 30 99 34
10 - 40 26 70 30 100 35
11 - 41 26 71 31 101 34
12 29 42 27 72 31 102 34
13 26 43 27 73 31 103 35
14 23 44 26 74 30 104 35
15 24 45 27 75 31 105 35
16 24 46 27 76 31 106 34
17 23 47 28 7 31 107 35
18 24 48 27 78 31 108 36
19 25 49 27 79 32 109 35
20 23 50 27 80 32 110 35
21 23 o1 28 81 32
22 23 92 28 82 31
23 25 33 28 83 32
24 25 o4 28 84 33
25 23 35 29 85 32
26 24 96 29 86 32
27 25 57 29 87 33
28 24 o8 28 88 33
29 24 99 29 89 33
30 25 60 29 90 32

0 1. 00000000000O0ODOD ASOOO




a a
Buffer«—
b
pl)— <<<17-

1]

C1—P

a

t+1)

a5t+1)

O 1: MUGIO p0OO

aét+1)

0O 2. MUGIO FOO

I R I ORI O

CIC RO

b(;)

(L) (t)
big by

D0

H

State

N
N

N
N

<<

32

Dt

b((]H—l) bgH—l) h()t-%—l) b(31+1) bgH—l) béH—l) béH—l) b§L+1) bgH—l) béH—l) b§t[)+1) b§/,1+1) bgg—u) b§z3+1) b§1+1) b(lts+1)

0 3: MUGIO AODO

10



a(()t) agt) agt)

agt) agt)

/A
%

(@] [=]

/A
%

agt+3)

04 p0000000O

11



Jd A
L

Case 1:
as® =10
,\\\
¢ A
/
F—D
— G

as) = 1(Case 700 0)

Jd A
L

Case 2:
as) =5
,\\\
-t A
/
-
L] %
—C]

Case 3: Case 4:
as(t) =5 as(t) =2
05 p0000000 (1)
/"\\ . /"\\ _
-4 A 1A
\\__// \\__//
;S [P
=1 N % (| N
t t
d—71G] —G]
Case 5: Case 6:

as) = 1(Case 800 0)

06:p0000000 (2)



Jd B
L/

(@] [=]

(@] [=]

\\ // \\
1 A 1 A
- T
=1 N % = N
t t
1
d—71G] P—C}
Case 7: Case 8:
ast) =4 as® =4

07 p0000000 (3)

13



32 = <<l F round(as")
< T ] 1 (+5)
NNANANL B S e N N NN NN
< 17 E
< | <<k32 E 2 (+1)
NN N S NN SESOSUNRU N  N
ey L > F
< < <<k32 E 3 (+1)
NSNS e e e N
< 17 E
< <« <<k32 e Oy e 4 (+1)
SISO OANSSONTTSN TSNS Y
D€ 1ecc1y F
< e PG 5 (+2)
SN OSOSANSEOUNTS NN Y
il 17 =
- = e 6 (+1)
SO SANSECSNNN TN\
<<17 E
« 5 g 7 (+0)
SOSTTNN N NN
<<<17 E
< < <<k32 E 8 (+1)
NS SOTTNN N N
<<<17 [=
< 32 E 9 (+1)
~ ST TS NN
< 17 F
e ) B 10(+1)
NN SESOUONN, S N S
<17 I*:
2 Santc 11 (+1)
NN N
14—y b
< T ] 12 (+1)
SN NN
tecc17 —>*—>GF
2 b 13 (s2)
SN NN — —
17 'il: 'é
< n ¢t | 14 (+5)
NG <<
< 17
< < <<kg3?2 E

0 8 000 active S-box U0 00O 23000 truncate 0000 (1)

14



e

el [ romdes) g T
1 (+5) 14 (+1)
-.

4]
3

'

11 (+1) ‘ i‘ 24 (+5)

>‘$-<
:%‘_ o D
] 2 (+1) § [6’ 15 (+0)
— B —
- —Fd = e
Sanic 3 (+1) S 16 (+0)
S - s
£3 S « 3
S amicl 5 (+1) b 18 (+1)
S = s
— - —
= s = R e T
3 7 (+0) 3 20 (+0)
« L « L
b 8 (+0) b 21 (+0)
- f - 7
DS 9. (+0)  { 22 (+0)
= f = 9
q 10 ( +0) 9 23 (+0)

p < p—

L d bR

]
* 12 (+1) %‘_ 25 (+5)

-~ |4
)
Dt
I

<
LG] 13 (+0) K;: &‘

0 9: 000 active S-box U0 000 23000 truncate 0000 (2)

15



HEN

7300000 (8),(9000Ulb0O0000bDO0O0LOO0OoOU 5000000000000

00000 (7000000 (8),9)000000
0o00o0oooon

(7)OooOooooooooooo

n—1

C-(A" b0+ 3 A" B af)) + k™ =0

=0

gbooooboboobOo1bboobooboooobobooooboboboooooDo

HEN
HEN

1 O]
1 O

g oo

00000 (A)Doooooooooooo

C
C-A
M, =
C- A
C H,
C-H;
My = )
C - -His

M3 = I(32x32)

1 O]

b
b\

bl




n—1
O0O0H =Y A"/ BOI(32x32)0 32x32000000000000M = M;|M,|Ms;
j=0
0000000000D00D00 0000000000000000 MOOODO0OO00OO00000
0O (B)00OO(C)0O00000O00

b
b
OO0 0000 )| .
(16x16) (48%16) || o
OO (0000 :
a(()15) — 0 (C)

O (oot |

0 ! 1
(16x16) (48x16) || *

0o |oooog )| M
k(()i5)
k(1)

O000I016x1600000000 16x1600000M"” 0 48x160000 M’ 0 48x 16
00o00ooooM’'0O00000 (D)ODOooOO

oooo )|«

ésxla | =0 ®)
HRERERE K

k_(()lS)
k§15)

0 (D)000000000000000000000o00ooonoooon XY 000,00
000000200000

EY 45 kD 41 =0 (E)
KO+ 50 + kM 16 =0 (F)
0 (E),(F)000000 (8),9)0000



